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Q.1 Select the most appropriate synonym of the underlined word in the given sentence.
Despite the professor's best efforts to explain the complex theory, it took me a while to
decipher the meaning of the text.

Ans 1. interpret
2. predict
3. conceal

4. foresee

Question ID : 264330143147
Status : Answered
Chosen Option : 1

Q.2 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

The doctor knew that Ravindra would recover from dengue soon and do the kind of
work he was doing before.

Ans 1. would do
2. had been done
3. would have been doing

4. had been doing

Question ID : 264330144092
Status : Answered
Chosen Option : 4

Q.3 The following sentence has been divided into four parts. One of them contains an
error. Select the part that contains the error from the given options.
The English / often / fought / French.

Ans 1. French
2. often
3. fought
4. The English

Question ID : 264330147558
Status : Answered
Chosen Option : 3




Q.4 Select the option that expresses the following sentence in active voice.
Why is the rotten apple being eaten by you?

Ans 1. Why were you eating the rotten apple?
2. Why you are eating the rotten apple?
3. Why have you eaten the rotten apple?

4. Why are you eating the rotten apple?

Question ID : 264330149520
Status : Answered
Chosen Option : 4

Q.5 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
A. dictators may rise to power and inaugurate
B. a new regime with dramatic suddenness
C. and success under suitable conditions
D. democracy is always a slow growth

Ans 1. DCAB
2. ACBD
3. DABC
4. ABCD

Question ID : 264330147576
Status : Answered
Chosen Option : 3

Q.6 Select the most appropriate synonym of the bracketed word in the following sentence
to fill in the blank.

Happiness is not something you (adjourn) for the future. It is something you
design for the present.

Ans 1. decimate
2. rejuvenate
3. constitute

4. postpone

Question ID : 264330142653
Status : Answered
Chosen Option : 4

Q.7 Select the most appropriate option that can substitute the underlined segment in the
given sentence.
The fields are full of crops existing_in large guantities.

Ans 1. that are sufficient
2. that are limited
3. that are customized

4. that are abundant

Question ID : 264330147539
Status : Answered
Chosen Option : 4




Q.8 Select the INCORRECTLY spelt word.
Ans 1. Fulfilling

2. Fulfil
3. Fulfilled

4. Fullfil

Question ID : 264330148921
Status : Answered
Chosen Option : 4

Q.9 Select the most appropriate synonym of the given word.
Hesitate

Ans 1. Haste
2. Stumble
3. Dither

4. Hassle

Question ID : 264330149864
Status : Answered
Chosen Option : 2

Q.10 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

As it is arainy season, it is raining_cats and mice.

Ans 1. itis raining tigers and lions
2. itis raining cats and dogs
3. itis raining dogs and wolves

4. itis raining birds and beats

Question ID : 264330143190
Status : Answered
Chosen Option : 2

Q.11 Select the most appropriate synonym of the underlined word.
The COVID-19 outbreak has caused a global education crisis.

Ans 1. legacy
2. catastrophe
3. inhibition
4. hoard

Question ID : 264330143652
Status : Answered
Chosen Option : 2




Q.12 Select the option that can be used as a one-word substitute for the given group of

words.
A royal ceremony in which a crown is placed on the head of a new King or a Queen.

Ans 1. Corroboration
2. Unseating
3. Qusting

4. Coronation

Question ID : 264330143121
Status : Answered
Chosen Option : 4

Q.13 Select the most appropriate synonym of the given word.
Unique
Ans 1. General
2. Ordinary
3. Exclusive

4. Usual

Question ID : 264330150171
Status : Answered
Chosen Option : 3

Q.14 Select the most appropriate idiom for the underlined segment in the following
sentence.

The proud people forget the fact that the world is tangible.

Ans 1. Hobson's choice
2. Head and shoulders
3. High and mighty

4. Hard-nosed attitude

Question ID : 264330149546
Status : Answered
Chosen Option : 3

Q.15 Select the option that expresses the following sentence in positive degree of
comparison. Istanbul is a beautiful city.

Ans 1. The city of Istanbul is as beautiful as other cities.
2. Istanbul is a very beautiful city.
3. Beautiful city is the Istanbul.

4. No other place | have seen is as beautiful as Istanbul.

Question ID : 264330149502
Status : Answered
Chosen Option : 1




Q.16 Select the meaningful and correctly spelt word from the given options to fill in the
blank.

The colourful procession was the last item to be performed in the
Ans 1. peasantry

2. pegentry
3. pageantry

4. pegeantri

Question ID : 264330148938
Status : Answered
Chosen Option : 1

Q.17 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
A. agenda for sustainable development
B. as the world faces cascading and
C. interlinked global crises and conflicts
D. the aspirations set out in the 2030
E. arein jeopardy

Ans 1. ABEDC
2. CBADE
3. BCDAE
4. AEDCB

Question ID : 264330149919
Status : Marked For Review
Chosen Option : 3

Q.18 Select the most appropriate ANTONYM of the given word.
Profit

Ans 1. Earnings
2. Amount
3. Sale

4. Expense

Question ID : 264330141295
Status : Answered
Chosen Option : 4

Q.19 Select the option that expresses the following sentence in active voice.

The meeting was called off.
Ans 1. The meeting had been called off.
2. They called off the meeting.
3. Someone called off the meeting.

4. They were calling off the meeting.

Question ID : 264330148720
Status : Answered
Chosen Option : 3




Q.20 Select the most appropriate option that can substitute the underlined words in the
given sentence.

I have think tomorrow | will take my belongings to the new apartment.

Ans 1. I think
2. I will think
3. | had think
4. | am think

Question ID : 264330144303
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

On an unfortunate accident, first aid experts stress that (1) what to do for an

) victim until a doctor or other trained person gets to the accident scene can

3) a life, especially in cases of stoppage of breathing, severe bleeding, and shock.
People with special problems such as diabetes, epilepsy, or allergy are (4) to wear
some sort of emblem identifying the problem, as a safeguard against administration of
medication that might be injurious or even (5)

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans 1. knowing

2. regarding
3. attempting

4. before

Question ID : 264330148722
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

On an unfortunate accident, first aid experts stress that (1) what to do for an

2) victim until a doctor or other trained person gets to the accident scene can

?3) a life, especially in cases of stoppage of breathing, severe bleeding, and shock.
People with special problems such as diabetes, epilepsy, or allergy are (4) to wear
some sort of emblem identifying the problem, as a safeguard against administration of
medication that might be injurious or even (5)

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans 1. injured

2. efficient
3. inquiring

4. accidental

Question ID : 264330148723
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

On an unfortunate accident, first aid experts stress that (1) what to do for an

2) victim until a doctor or other trained person gets to the accident scene can

?3) a life, especially in cases of stoppage of breathing, severe bleeding, and shock.
People with special problems such as diabetes, epilepsy, or allergy are (4) to wear
some sort of emblem identifying the problem, as a safeguard against administration of
medication that might be injurious or even (5)

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans 1. soothe

2. save
3. harm

4. take

Question ID : 264330148724
Status : Answered
Chosen Option : 2

Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

On an unfortunate accident, first aid experts stress that (1) what to do for an

2) victim until a doctor or other trained person gets to the accident scene can

3) a life, especially in cases of stoppage of breathing, severe bleeding, and shock.
People with special problems such as diabetes, epilepsy, or allergy are (4) to wear
some sort of emblem identifying the problem, as a safeguard against administration of
medication that might be injurious or even (5)

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 1. benefitted

2. urged
3. invited

4. allowed

Question ID : 264330148725
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage, some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

On an unfortunate accident, first aid experts stress that (1) what to do for an

2) victim until a doctor or other trained person gets to the accident scene can

?3) a life, especially in cases of stoppage of breathing, severe bleeding, and shock.
People with special problems such as diabetes, epilepsy, or allergy are (4) to wear
some sort of emblem identifying the problem, as a safeguard against administration of
medication that might be injurious or even (5)

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans 1. appropriate

2. beneficial
3. fatal

4. remedial

Question ID : 264330148726
Status : Answered
Chosen Option : 2

Section : General Intelligence

Q1
Ans 1.
2.
s Question ID : 264330147376
4. Status : Answered
Chosen Option : 4
Q.2
Ans 1.
2.
3.
4 Question ID : 264330146709

Status : Answered
Chosen Option : 3




Q.3

Ans L TCCTCCTC
2. CTCCTTCT
3. TCTCCCCC
4 CCTTCTTT Question ID : 264330150480
Status : Answered
Chosen Option : 3
Q4
Ans 1. 16
2. 17
3. 20
4. 18
Question ID : 264330146916
Status : Answered
Chosen Option : 1
Q.5
Ans 1. 8
2.
3. 52
4. 76

Question ID : 264330147126
Status : Answered
Chosen Option : 2




Q.6

Ans 1.

4.
Question ID : 264330146898
Status : Answered
Chosen Option : 1

Q.7 ‘LOQR’ is related to ‘GILM’ in a certain way based on the English alphabetical order. In the same way, ‘SVXY’ is related
to ‘NQST’. To which of the following is ‘NQST’ related, following the same logic?

Ans L INMO

2. IMOQ

3. ILNO

4. IMNO

Question ID : 264330150689
Status : Answered
Chosen Option : 3

Q.8
Ans 1.

2.

3.

4.

Question ID : 264330147122
Status : Answered
Chosen Option : 4




Q.9

Ans

LI

Question ID : 264330146479
Status : Answered
Chosen Option : 2




Q.10

Ans 1.
2.
3.
4,
Question ID : 264330147506
Status : Answered
Chosen Option : 2
Q.11
Ans 1.
2.
3. Question ID : 264330146599
Status : Answered
4. Chosen Option : 2
Q.12
Ans 1.
2.
3.
Question ID : 264330147012
4.

Status : Answered
Chosen Option : 1




Q.13

Ans

Question ID : 264330147501
Status : Answered
Chosen Option : 1

Q.14

Ans

Question ID : 264330146964
Status : Answered
Chosen Option : 4

Q.15

Ans

Question ID : 264330147058
Status : Answered
Chosen Option : 2

Q.16

Ans

Question ID : 264330147350
Status : Answered
Chosen Option : 1




Q.17

Ans 1.
2.
3.
4.
Question ID : 264330147166
Status : Answered
Chosen Option : 4
Q.18
Ans 1.
2.
3.
4. Question ID : 264330146346

Status : Answered
Chosen Option : 2




Q.19

Ans

> | B D>

NN ENES

>

Question ID : 264330147241
Status : Answered
Chosen Option : 3




Q.20

Ans
Question ID : 264330150997
Status : Answered
Chosen Option : 3
Q.21
Ans 1.
2.
3. Neither conclusion (I) nor (II) is true. Question ID : 264330151002
Status : Answered
4 Chosen Option : 2
Q.22
Ans 1.
2.
3.
4. Question ID : 264330147271

Status : Answered
Chosen Option : 2




Q.23

Ans 112
2. 21
3.
18 Question ID : 264330151027
4. 15 Status : Answered
Chosen Option : 4
Q.24
Ans 1.
2.
3.
4 Question ID : 264330146620
Status : Answered
Chosen Option : 3
Q.25
Ans 1418
2. 395
3. 433
Question ID : 264330152190
4. 404

Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude




Q.1 The following table gives the sales of TVs of different brands over the years (numbers in thousands).

TV Brands
Year | Brand | Brand | Brand | Brand
1 2 3 4
2015 80 150 116 112
2016 84 130 108 70
2017 98 124 80 110
2018 | 110 100 160 95
2019 | 196 180 159 190
2020 124 70 174 54
2021 128 90 180 150
Which TV brand is the highest sold in the year 20197
Ans L Brand 1
2. Brand 4
3. Brand 3
4. Brand 2
Question ID : 264330150634
Status : Answered
Chosen Option : 1
Q.2
Ans 1.
2.
3.
4. 90
Question ID : 264330148220
Status : Answered
Chosen Option : 1
Q.3
Ans 1.
2.
3.
4.

Question ID : 264330149333
Status : Answered
Chosen Option : 1




Q.4

Ans 1. 13
2.2:5
3.4:4
4-.3:2 Question ID : 264330149411
Status : Answered
Chosen Option : 4
Q.5
Ans
1.
2.
3.
4.
Question ID : 264330147840
Status : Answered
Chosen Option : 4
Q.6

Ans

Ifx2—+976 x+ 1 :Dandx>1,thevalue0f(x3 -

1 21.042
2. 24.024
3. 21.024
4.24.042

R
—) 15:
x3

Question ID : 264330147813
Status : Answered
Chosen Option : 4

Ans

1. 25
2. 45
3. 35
410

Q.7 Find the smallest number to be added to 1000 so that 55 divides the sum exactly.

Question ID : 264330148129
Status : Answered
Chosen Option : 2




QS8

Ans 1.
2.
3. 35°
4. @37
Question ID : 264330147733
Status : Answered
Chosen Option : 1
Q.9
Ans 1. 9
2. 8
310
4.6 Question ID : 264330148169
Status : Answered
Chosen Option : 1
Q.10
Ans 1.
2.3
31
4. 2
Question ID : 264330148112
Status : Answered
Chosen Option : 4
Q.11
Ans 1130
2.
3. 150
4,
120 Question ID : 264330149344

Status : Answered
Chosen Option : 4




Q.12

Ans 1.
2. 57
3.
4. Question ID : 264330148041
Status : Answered
Chosen Option : 4
Q.13
Ans 3
1. —
4
5
2. ke
4
4
3. -
5
4 E Question ID : 264330148768
5 Status : Answered
Chosen Option : 2
Q.14
Ans 1.
2.
3.4
4, {'}' Question ID : 264330148045
Status : Answered
Chosen Option : 3
Q.15
Ans 1.
2.
3.
4.

Question ID : 264330148863
Status : Answered
Chosen Option : 1




Q.16

Ans

1.
2.
3.
4.
Question ID : 264330148005
Status : Answered
Chosen Option : 2
Q.17
Ans 1.3
2.
3.
41
Question ID : 264330147769
Status : Answered
Chosen Option : 2
Q.18
Ans 156,000
2. 58,200
Question ID : 264330150842
3. 3“12{]0 Status : Answered
4 23,00{) Chosen Option : 2




Q.19

Ans 1.
2.
3..52%
4.
Question ID : 264330148792
Status : Answered
Chosen Option : 3
Q.20
Ans 1. 34
2.
3. Question ID : 264330146797
4. Status : Answered
Chosen Option : 2
Q.21

Ans 1. 500 gm

2. 100 gm
3. 250 gm

Question ID : 264330150013
4. 125 gm Status : Answered

Chosen Option : 3

Q.22 The following table shows the heights of six students. Study the table carefully and answer the following question.

Name Height (in cm)
Vanaja 117
Sailaja 125
Uma 133
Sudha 140
Amala 132
Leela 121
How many students are there whose height is between that of Vanaja and Uma?
Ans 1. One
2. Two
3. Three
4. Four

Question ID : 264330150968
Status : Answered
Chosen Option : 1




Q.23

Ans 1. 8%
2. 20%
3. 229
4. 240 Question ID : 264330151959
Status : Answered
Chosen Option : 3
Q.24
Ans 1.
2.
3.

Question ID : 264330148010
Status : Answered
Chosen Option : 2

Q.25

Ans 1.
2.
3.
4320

Question ID : 264330147772
Status : Answered
Chosen Option : 1

Section : General Awareness

Q1  From which places did Lord Cornwallis start the permanent settlement system?

Ans 1

2.

3.

Question ID : 264330150217
Status : Answered
Chosen Option : 4




Q.2

Ans 1.
2.
3.
4,
Question ID : 264330144663
Status : Answered
Chosen Option : 1
Q.3
Ans 1.
2.
3.
4,
Question ID : 264330149361
Status : Answered
Chosen Option : 2
Q.4
Ans 1
2.
3. Tanvi Khanna
4,
Question ID : 264330146298
Status : Answered
Chosen Option : 2
Q.5
Ans 1. Punjab
2. Jharkhand
3.
4. Karnataka

Question ID : 264330148672
Status : Answered
Chosen Option : 4




Q.6

Ans
3.
Question ID : 264330146130
Status : Answered
Chosen Option : 1
Q.7
Ans 1.
2.
3.
4. Question ID : 264330145735
Status : Answered
Chosen Option : 3
Q.8
Ans 1.
2.
3.
4. Sumitra Guha Question ID : 264330151326
Status : Not Answered
Chosen Option : --
Q.9
Ans 1. 8
2. 6
3. 18
Question ID : 264330145675
4. 10

Status : Not Answered
Chosen Option : --




Q.10

Ans
Question ID : 264330150153
Status : Answered
Chosen Option : 2
Q.11
Ans
3.
Question ID : 264330145645
Status : Answered
Chosen Option : 3
Q.12
Ans 1.243ZG t0 243 Z)
2.243 P t0 243 ZG
3.243 ZH 10 243 ZT
4.243 Ato 2430 Question ID : 264330150423
Status : Answered
Chosen Option : 3
Q.13
Ans 1.
2.
3.
4,

Question ID : 264330145703
Status : Answered
Chosen Option : 2




Q.14

Ans
2.
Question ID : 264330145981
Status : Answered
Chosen Option : 1
Q.15
Ans L. Zak Jones
2.
3.
4. David Quinn Question ID : 264330146302
Status : Not Answered
Chosen Option : --
Q.16
Ans 1
2.
3.
4.
Question ID : 264330150051
Status : Answered
Chosen Option : 4
Q.17
Ans 1.
2.
3. Question ID : 264330146115
Status : Answered
4. Chosen Option : 2




Q.18

Ans 1 Sitar

2. Tabla
Flute
Shehnai

w

&

Question ID : 264330148676
Status : Answered
Chosen Option : 2

Q.19 Who was the Sultan of Delhi at the time of the establishment of Vijayanagara Empire?

Ans 1.
2. Iltutmish
3.
4,
Question ID : 264330150207
Status : Answered
Chosen Option : 3
Q.20
Ans 1.
2.
3.
4,
Question ID : 264330149384
Status : Answered
Chosen Option : 2
Q.21
Ans 1.
2.
3.
4,

Question ID : 264330144671
Status : Answered
Chosen Option : 1




Q22 ‘Which two cities of India are connected by the Grand Trunk Road?

Ans 1.
2. Karachi-Kolkata
3. Mumbai-Kolkata
4,
Question ID : 264330149629
Status : Answered
Chosen Option : 1
Q.23
Ans 1 Lord Ripon
2.
3.
4,
Question ID : 264330150401
Status : Answered
Chosen Option : 4
Q.24
Ans 1.
2.
3.
4. Question ID : 264330145583
Status : Not Answered
Chosen Option : --
Q.25
Ans 1.
2.
3.
4.

Question ID : 264330145765
Status : Answered
Chosen Option : 2
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